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1. If the area of a square is
decreased by 19%, then the
2 ) diagonal of the square is
(2p) hea — 3L e decreased by:
o afg Y gt &1 awa
19% FH @ AT &, ar
(D) o\n'a/sn'oh/i’w—:o 81 i&\‘b'm gt &1 AFor fFaar &7
lod | g JAraTe:
a) 15% b) 5%
/V)’/m% d) 12%
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2. A field is in the shape of a

parallelogram and one of its
sides measures 21 m and its
distance from the given
opposite side is 11 m. Find the
area of the field.

TF Wd AR IJHST &
R # ¥ 3k s ww
star & AT 21 e ¥ 3k

AT FfST |
a) 121 m? b) 221 m
231 m? d) 441 m?




3. In the given figure DE || BC,
AD = 6cm and DB =
cm. What is the value of

AM: MN?
ffe av 3@ A, DE
||BC, AD = 6 ¥t 3
DB = 3¥H §1 AM : MN

&T AT fhaer 2
a)2:1 b) 3: 2
//ers:1 d)2:3




Y. The average age of a husband

and his wife was 23 years when
they were married 5 years ago.
The average age of the
husband, the wife and their
child is 20 years now. How old
is the child now?

s ' gfad 3 gl €Y 5
q¥ uge A g, A1 AN
Iy staae 2379 ot ofd,
qﬁ‘rsﬁta—&aﬁaﬁwrm
T 20 ¥ Bl = A 311'21
3T fhaer 872

a) 9 months b) 1 year

c) 3 years Myears

[ >



5. The average age of Ram

and Shyam is 25 years.
Find the age difference of
both after 5 years if the
ratio of the ages of Ram
and Shyam is 12: 13.




D, D26. When two dice are tossed

ot oWt Cowe= simultaneously, the
Te oJ 6 X6 probability that the sum of
= %6 the numbers appearing on

both the dice is 8 will be

Llon




7. The mean of 16 numbers
is 12. If each number is
multiplied by 3, then the
new mean is
16 TEABT HT AT
12 g1 I g+ "Ear
$I 3 ¥ aon fRIAT ST
¥ oY oar Amew §

a) 32 b) 28
c) 40 /36
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3. (i) part of a wire is white. (1)

12 3
part of the remaining wire is

blue and the remaining 2%

metre wire is red.
What is the total length of the
wire?

Wawm(l—lz)mm%l

eﬁawar(%)m:ﬁmsﬁt

ewzgmaawm%law

$Y Fel AGE FAT §7?
a) 8 metre 4 metre
c) (g) metre d) (%) metre

[ ?
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q. Two égual bottleslA and B contain a mixture

of alcohol and water. In bo_}tle A the ratio of
alcohol to water is(3: lyand in bottle B the
ratio of alcohol to water is(4: 3}7‘ﬁ1en two
bottles are poured into the third bottle C
then find the ratio of alcohol to water in
bottle C.

3l TATT axdar A 3R B & 3redge 3T
grelt &1 AT 81 e AH e &
gt & e[ 3: 1%, 3N dqer 8 A
Jedled H Tl § IqUrd 4:3 &1 T
A aidel NEd Siaa ¢ # srelr S
ar &idel CH ePlgd F Ul { 39T
AT Hifaw]

a)19:37 %

c)23:29 d)

| | 10
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7:19
9:19




® If a wheel has diameter
2 42 cm, then how far does the

2 22 x 24 %12~ wheel go (in metres) in 12
X

. 22
revolutions? (Take = 7)

g?}mwmu
. ar afRar 12 geaT
= 22172 # fraelt ¥ (Aftex &) e

_ 22

1ISRY %? (Taken— 7)
a)21.45 15.84
c)23.27 d)17.64

I
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tI. Working 24 hours per day, Raj

can complete a work in 48
days. How many hours per day
he should work so as to finish
the same work in 72 days?

FT FIAT AIRT?
a) 12 hours b) 20 hours
16 hours d) 18 hours




Zm Shym K4 St
o ,Lr K27 45
Q0 16 5

3% 72

12. The income of Shyam is 20% less than the

/_7,6 L K27

income of Ram. The income of Radha is
25% less than the combined income of Ram
and Shyam. The income of Sita is 25% more
than the combined income of Ram and Shyam.
Find the ratio of the combined income of Ram
and Shyam to the combined income of Sita and
Radha.

ITH #Y 3T, TH HT 3T § 20% FHA g
[T Y A, TH A ;W A qIFT HT
¥ 259 HA ¥ dar a3 ww oAk
ITH HT WIFT 3T § 25% IHOF gl A
AR g P FgET T @ der sk
T AT qIFA T FT HAUIT AT HIfSIT|
a)2:1 b)3:4

c)4:3 4{)/1:2

| | 13
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12. In the given diagram ABCK is a
square. If KL=10 cm and
MK = 24 cm, then what is the

length of AB incm ?
ffT aIv 3M@ # ABCK T+

Tt & I KL = 10 /A
T MK = 24 @+ &, ar AB
#r dar 9 F Fa«r g ?
7% b)91—17
c)B% d)61—17




14. A Kindle is sold for $1325 at a
profit What would have
5 /‘4 been the actual profit or loss on it,

_ 707 if it had been sold for $742?—>70/
R UF fFed # 25% & oW W

425 =
+5E5 $1325 & a1 ST ¥ AR =@
$742 H AT G A IEAQAF
= AL AT Efer F=AT d?
12 30% Loss b) 20% Loss
c) 20% Profit d) 30% Profit

'




15. Three friends A, B, C invested in a

B C business in the ratio of 8: 5: 6 for
A 0 0 one vyear. After 6 months C
withdraw half of his capital. Find

2xr 5AF 6>96,/

the profit earned by C out of the

=+ 3"/( total Rs.112000. (In Rs.)

6 o diet @9 A, B, C A T ga@d
: -9 # s a¥ & AT 8:5: 6 F
b2 m#ﬁ%&r%mleu—aﬁ
qX—H—% e C aq?ﬁqsﬁa»'rsrrm
}300 e dar ¥ F@ 112000
——3':- O A & ¢ gant T amer
AT Tl (F9F H)
a) 29000 28800
c) 28900 d) 29100

| | 16



Manufactured by ABC Pvt Itd.

3500
3000
2500
2000
1500
1000

500

2500

Bicycle

16 . The Bar graph shows four different toys

m2016 ®2017 m2018 M A
-3000
160
@ 2000
1800

(Bicycle, Train, Car & Bus) manufactured
by ABC Pvt Ltd. company in 3 consecutive
years.

What is the ratio between the sum of
cars and trains manufactured in 2017 and
2018 to the total number of buses
manufactured in 2016, 2017 and 2018
together?

g3 T FANIF 3 8T H ABC YIgde
fafes w9t qarr AT I/ e
o @elat (@sfFa, e, FR 3R
T9) F1 gerfar gl

2017 33X 2018 # fffa &R 3ilx
&Y & AT *1 2016, 2017 3 2018
#Wmﬁﬁamaﬁrmm
¥ Rraer T 82

a) 30:41 b) 33:40
c)35:41 40:33

| | 17




1I7. The smallest rational number

by which ; should be multiplied

so that the decimal expansion
of the resulting rational
number  terminates after

2 decimal places is

dg¢ 998 3 IRAT §Ear
Tard, O - @ JOT FE
?{ﬂ%t’ arfe aRomdt aR&Ew
HE&AT &1 cUqAdg fAFar 2
AT TAAT & I AT
gl SITu:

7

a) 7 b) E
)L 7
¢ 100 100

| | 18



13. Two dice are thrown

simultaneously. What is the

QO")) probability that both of them
22 D will show the same numbers?
(3'3) DyxPa. & U TF 61y B
%) 6 X6226 =t F waw wEw REw
- C ) FaT 87
’ 1/6 b)2/3
(66) c)2/7 d) 4/9

6 _|

36 6




19. In an equilateral triangle
ABC, AD 1 BC. Then
which of the following
statements is correct?

UF  HHAAE Porsr A
ABC, AD 1 BC, ™
feafafda & @ W
AT FYT TqE 872
a) 2AB? = 3AD*?

C b)4A4B? = 34AD?
AB? = 4AD?
d) 3AB% = 2AD?
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29. In a circle with centre 0,A4B is
the diameter. P and Q are two
points on the circle on the same
side of the diameter AB. AQ and
BP intersect at C. If ZP0OQ =
54°, then the measure of ZPCA
is:
¥g O gl TH g H, AB UH
g | P3N QzuTH ABF Tw &
o6 g W & fag §1 Aq 3R
BP, C WX Ufad=og &3 g1 afe
4P0Q =54°§, dY 2PCA &I

AT &
a) 72° % 63°
c) 56° d) 54°

| | 22
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PR

the length and breadth of a
rectangular field are in the ratio
% 49 A path of 4 meter wide
running all around side of an
area 416 m®. Find breadth of
the field.

4%Iw4whaiﬁanw‘r
3aF IRY 3T S I
fSaFT &FFa 416 HI2El

dd 1 Glsg Aa e
a)15m %16m
c)17m d) 18 m

| | 23
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22 . Abhi covers the distance of place A

to B with the same speed of 48
km/h and the distance from B to C
with the same speed of 120 km/h.
If the ratio of distance of AB: BC is
2: 3, then what is the average
speed for the whole journey?

I TAT AT BHY 48 TH#T
| e f gA afqd @ 3B &
c @1 gt 120 fFai/eer #r @A
AT ¥ 99 Far g1 I AB:
BC#Y gfl &I 3equrd 2:3 §, o
qdt I A e afa Far @2
a) 72 km/h b) 84 km/h

c) 80 km/h %/75 km/h

| | 25



23 It is given that 2DEG = 4a’
and 2GEF = (11a/2)" + 9'. If
DEF is straight line then find the
value of 7a’ — 15°?
Ig fear & & LDEG=4a’

3" LGEF = (11a/2) +9° |
afe DEF ww et Y@r § ar

7a’ — 15° T AT AT
126  #Hifam
— S a)113° b) 109°
_I_IT /111° d) 110°




Articles | Cost Profit
price

D 700 200 -

E 600 150 -

F 400 300 -

G 500" 400

H 300 - 250

I 800- 350
S 50xler §50.
(6.6 £3

24.The table given below shows the cost price and

alue of profit of 6 articles.

@;Vhich of the following statement is

X
II X

correct?
I. The profit of D, E and F is 30.63 percent of
the cost price of G, H and I.
Il. The ratio of total cost price to the total profit
is1: 2.
A & w5 st 6 aEgHt FFT AeA
3 a7 F1 Hew gatel ¥
mﬁ%m-mamwaﬁ%o
. D, E 3R F&T @19, G, H3IR | & 7 77
&1 30.63 yfaerd 2
I. FT FT Hed A FoT A FT 9T
1.2

othlandll b) Only II
c)Only |l d) Neither I nor Il

[




25 If the difference between
compound interest and simple

_é )(__Q_ = (43 interest on a certain sum of Rs.
[6D" [uD 7500 for 2 years is Rs. 48. What

2 is the rate of interest per annqm?
PrEN= T4 Ifg 7500 TOF 9w 2 adf F
73 - T wwgef s 3k

FTUROT AT & a1 37a< 48
T g g fA affd X

—lfﬂ):—p‘ @ &7

8% b) 10%
c)11% d) 12%
B3 _
5 o
Jsdb Dp
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26.In the diagram alongside, PL

bisects ZQPR of APQR and L
lies on QR. If 2Q=70°
and ZLPR = 28°, then what
is £PLQ equal to?

ST ¥ ™ 3mw #, PL
APQR % +QPR &faoa® &
i g L @ QR W ¥
I 20 =70° 3R LPR =
28° & d 2PLQ T A

a) 52° b) 56°
82° d) 98°

| | 29



27 What is the mean of

mode and median of
1,2,3,3,4,4,4,4,5?

Modi= 1,2,33@4,4.45 %
L, ﬂ Yy ‘“' 'E"*'@*‘; T
. ATET &7 872
MeJI\OM: q a) 2 b) 5

c)3 /4

")
Q+|
(3 =




28. The greatest 4 digit number
divisible byz 3,4, 5, and K.is
2,3,4,5 3k 6 & Ry
4 — 3F N FIE I FEIT
t-

a) 9,810 b) 9,870

49,960 9,999




29 If x:5=y:10=2z:
15, then 2222 =7

2. . Y = IRk x:5-=y:10=

—_ - = . 15 ,?_n,x+y+z:?

RY+Y2 +2 / élr A5~ 45; z)s ¥ o7
-y’ r2n G N )8 %

')("A-}»’Z_'Z’K H'Z"'B = 6 7L+a+'2— X
— g >< | 2
"’&\'3—% -
X '\'31-{—27— \/
'l??'al ]
| | 32

&




20 ,What is the median of the data
20,27,14,21,26,29,23,33,11,28?

20,27,14,21,26,29,23,33,11,28

maﬁrmﬁ‘qmw%?
27 24 6 95 )0 g3

b) 26
zez:—wz-%&,zor %ﬂrrpwé d) 29
/
3418
LTI
7= 5
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